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QUESTION 1

Which of the following is a host-centric overlay solution for a modern data center? 

A. SPBM 

B. TRILL 

C. VxLAN 

D. VPLS 

Correct Answer: C 

Modern data center, traditional technologies are limiting the speed, flexibility, scalability, and manageability of
application deployments. There is emerging interest in the industry in overlay technologies (such as 

MPLS, VXLAN, LISP...) 

Reference: https://community.cisco.com/t5/data-center-documents/cisco-data-center-overlays-with-focuson-vxlan-slides-
from/ta-p/3159545 

 

QUESTION 2

To auto-instantiate services on a 7750 DCI, which protocol needs to be enabled between the 7750 SR and VSD? 

A. SNMP 

B. Openflow 

C. XMPP 

D. BGP EVPN 

Correct Answer: C 

 

QUESTION 3

What mapping is FALSE? 

A. CMS – Management plane 

B. VSD – Management plane 

C. VSC – Control plane 

D. VRS – Control plane 

Correct Answer: A 

Reference: https://docs.oracle.com/en-us/iaas/Content/Resources/Assets/whitepapers/sdn-integration-with-
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QUESTION 4

For a packet transmitted using VXLAN encapsulation, where is the VXLAN header within the packet? 

A. It is part of the Layer 2 Ethernet header, just like VLAN. 

B. It is added between the Layer 2 header and the Layer 3 IP header. 

C. It is added between the Layer 3 IP header and the TCP/UDP transport layer header. 

D. It is added between the UDP header and the payload. 

Correct Answer: C 

Reference: https://openct.net/wp-content/uploads/OpenCT-BaaT-Technical-Documentation-2020.pdf 

 

QUESTION 5

What statement is TRUE regarding multiple virtual IP addresses assigned to a single vPort? 

A. The virtual IP addresses can be in a different subnet than the VM interface IP address. 

B. All virtual IP addresses of a vPort must be in the same subnet. 

C. One of the virtual IP addresses can be the same as the VM interface IP address. 

D. Every virtual IP address must be associated with a virtual MAC, which differs from the VM interface MAC address. 

Correct Answer: A 

If you have only one public IP address available, and you want to host multiple servers, use aVIP. 
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